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Risoux 

Bonnet for Adult (head size: 57 to 60 cm) 

 

Material:  

2 balls of Country Tweed Cheval Blanc (50g/100m.), 

Needles 5mm, a sewing needle. 

Points: 

Seed stitch:  

Row 1:*knit 1, purl 1*, repeat from *to* and finish 

with knit 1. 

Always repeat this row; all the stitches are so opposed 

Seed Ribs: 

Row 1 (on the wrong side):1 selvedge stitch, *knit 3, 

purl 1, knit 1*, repeat from *to* and finish with knit 2 

and 1 selvedge stitch. 

Row 2 (on the right side): 1 selvedge stitch, purl 2, * 

knit 1, purl 1, knit 1, purl 2*, repeat from *to* and 

finish with 1 selvedge stitch. 

Always repeat these 2 rows. 

Decrease: knit 3 together. 
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Work: 

 

Cast on 79 stitches, do the first row (on the right side): 

knit all 

On the wrong side of the work, begin to knit with 

the seed ribs up to 10 cms in height. 

Then, on the right side of the work, knit with the 

seed stitch up to 25 cms in height. 

Start decreasing, still using the seed stitch, on the right 

side of the work:  

Decreasing 1 (right side): knit 2 stitches, then: (K3tog, 

knit 7 stitches) 8 times, finish with knitting 4 stitches. 

Decreasing 2 (right side): knit 2 stitches, then: (K3tog, 

knit 5 stitches) 8 times, finish with knitting 2 stitches. 

Decreasing 3 (right side): knit 2 stitches, then: (K3tog, 

knit 3 stitches) 7 times, finish with knitting 6 stitches. 

Decreasing 4 (right side): knit 2 stitches, then: (K3tog, 

knit 1 stitches) 7 times, finish with knitting 4 stitches. 

Make the wrong side row to with 19 remaining stitches; 

get away the thread from 50 cms in height. 

Make the sewing by taking care of inverting when by 

arriving at ribs so that points do not see. 

 

 


